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Sub-Section Id : 209963254
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099632289 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (1 to 20)

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5r0% DTS

Note:  In questions numbered from 1 to 20, a question 1s followed by data i the form
of two statements labelled as (I) and (II). You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the data
make an appropriate choice from (1) to (4) as per the following guidelines:

(a) Mark choice (1) if the statement (I) alone 1s sufficient to answer the question.

(b) Mark choice (2) if the statement (IT) alone 15 sufficient to answer the question.

(¢) Mark choice (3) if both the statements (I} and (II) are sufficient to answer the
question but nerther statement alone 1s not sufficient.

(d) Mark choice (4) if both the statements (I) and (II) together are not sufficient to

answer the question and additional data are required.
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Sub questions



Question Number : 1 Question Id : 2099632290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency 65r0% DUDS

What 1s the four-digit number 54xy?

54xy e9d TrenioSe Q02 DO ?

D x+y=4
) x—y=2

Options:

Question Number : 2 Question Id : 2099632291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency 65r0% DUDS



What 1s the GCD of x and y ?

X,V © B..2. doeh ?

I x*+y?=36
(I) LCM of x and y is xy.
X,y e 8 . 0. xy.

Options :

Question Number : 3 Question Id : 2099632292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency &gros oS



What 15 the area of the rectangle?

% (4 0 0 od ?

(I) The ratio of length and breadth of the rectangle 15 5 : 3.
o5 (3 cSigo T, Ao And 3 -3

) Circumference of a circle is 352 m and the length of the rectangle i % of
the radmus of the circle.
352 2. 9600 D% dygariirdo 6 4 sdosdeh B9 ideodio

TED) e,

Options :

Question Number : 4 Question Id : 2099632293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5°0% DTS



If x and y are real then. what 1s the value of xy ?

X,y Q0 R RoDIVOS, Xy VD Jod ?

0 x+y=8
() x%+y%=34

Options:

Question Number : 5 Question Id : 2099632294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY

1. Data Sufficiency 65r0% DUDS

What 15 the volume of the cylinder whose radms 15 r cm and height h cm?

r 0. T 800050 h 0. 2 8B 30 03 Bir0 dos 7

0 r+h=10
M r-rh-2=0



Options :

4. % 4

Question Number : 6 Question Id : 2099632295 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GZro% DU

Is that year a leap year?

o oo B0 oo B!

(I)  The number represented the year 1s divisible by 4.

2] ‘é}ocbejat}"ﬁ)i VAR ‘&)03)73 4 3 erhonecodood.

(I) The number represented the year ends i two zeros.

e 03T Aol o] Bocd T 0F o)l

Options :

1. %1



Question Number : 7 Question Id : 2099632296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency 65r0% DUDS

What 15 the distance between the places A and B ?

A Bexd ‘(geﬁo D (1o dod ?

(I) Ifaperson starts walking from A with a speed of 4 kmvhr, he reaches B by
30 min. late
A ood. bcloend 58 ot 4 8ab. o & 463 BY 30 ). v
GUROTP AEE0FeD,

(I) Ifaperson travels from A on a cycle with a speed of 0 knv'hr, he reaches B
by 20 mimn. earlier
A ooc: asbendBR 53 286 oty 6 8., 3io & Yareod) Sy

[

B 20 .20 o S8 otrcd,

Options :



Question Number : 8 Question Id : 2099632297 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency &gros oS

Find the prime number p.

p & YT E08) ol

(I)  p lies 1 between 40319 and 40330.
40319 0batn 40330 © 0 p &otod.
(I) p>40318

Options :

1.1

4. % 4

Question Number : 9 Question Id : 2099632298 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency &gros oS

What 15 the area of the rectangle?

s 0 00 DFU[0 Jodb ?

(I) The permeter of the rectangle 1s 48m.

B o chokw Ees 48D,

(IT) The ratio of length and breadth of the rectangle 1s 7:5.

B 98000 TPeled), Deseyw AN 7:3.

Options :

1. %1

2. % 2

3.3

4. % 4

Question Number : 10 Question Id : 2099632299 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5°0% DTS

Find the number of possible values of the natural number n.

AT gy 1 & EDP_JOB)?S Do) Ronfed &8 )06,

(I)  n1s greater than or equal to 1.

noad | 4%) 3)%3& I 0.

(I) n divides 5n +2013.
5n+ 2013 v n &PAR0A.

Options :
1. %1

2. 2

Question Number : 11 Question Id : 2099632300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency &gros oS



What was the average speed for 1200 km trip?
1200 3.0, ¢irdo patrehocsciod” ekt Stfo Joeh ?

(I)  The first 400 km of the trip took 4 hours.
e 9afpei08” 2058 400 8.0.0% HoSredoiser3 4 otren od.

(IT) The last 800 km of the trip took 10 hours.
2458 800 8.6 030 YOiredocite 10 fotren 3o,

Options :

4, % 4

Question Number : 12 Question Id : 2099632301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5r0% DTS



What 1s the value of log, a?
[0g, a e Jots ?

(I) log,b=k
(I) logyc=1

Options:

Question Number : 13 Question Id : 2099632302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency 65r0% DUDS



[fa solid metallic cone 15 melted and recast into a sphere, then what 15 the radms of
the sphere?

28 0% e B0a0edi $80od) w8 fivore datrdy &Y, e fivo ding
(PG00 !

() The raduus of the cone 15 5 cm.

¢ 300 G, P30 5 20.6.

(I) The height of the cone 15 10 times 1ts radius.

& 3034 0 T FRFPAL 10 3.

Options :

4. % 4

Question Number : 14 Question Id : 2099632303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GZro% DU



Which 15 the most effictent among the machines 4, B, C ?

A,B,C abogrod’ edfod . sy 6330 06 ?

(I) 3 hours runnmg time of A 15 same as 4 hours running time of B.
A ding, nred flobw DS I, B g, 4 flobw HIFPA
RalPro.

(I) 4 hours runnmg time of A 15 same as 5 hours runnimg time of C

A oinéz’ 4 oty 90 0938 C ojnézj 5 06)0) DRSPS NeF0.

Options :

4. % 4

Question Number : 15 Question Id : 2099632304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency Ggro? DUDS



What 15 the salary of A?
A as) 20 Jodh ?

(I) A gets 20% less than B's salary and B gets 50% more than that of C.
B & ST 4 o) 2o 20% S5 avbafn € 2o ST B 2o
30% 89,09

(I) C's salary 1s Rs.50000.
C dog) 2o . 50000

Options:

Question Number : 16 Question Id : 2099632305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency 65r0% DUDS



Can we construct the triangle ABC ?

debzo ABC 2 o ockionr ?

(I) AB=2cm,BC =3cm, CA=6cm
AB =2 20.2., BC =3 20.20., CA=6 20.2).

() BC>CA>AB

Options :

1.41

4, % 4

Question Number : 17 Question Id : 2099632306 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5r0% DTS



Is y positive?

Y G S°?

O x*+y<0
) x—y>0

Options :

1.9 1

Question Number : 18 Question Id : 2099632307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency &gros oS



What 15 the average of a, b, c,d ?

a,b,c,d & DTN Joeh?

) a+b=c+d+6
M) c+d=10

Options :

Question Number : 19 Question Id : 2099632308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency &gros oS



Are AABC and APQR of same area?

MBC &bty APGR e 0878308 o &0 9P ot

1) BC=(R
M B =10

Options :

Question Number : 20 Question Id : 2099632309 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency 65r0% DTS



Find the prime number p.

DV P XD 08 oC.

O 719 < p< 727

I p=>727
Options :
1.4 1
2. % 2
3. % 3
4, % 4
Sub-Section Number : 2
Sub-Section Id : 209963255
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 21 Question Id : 2099632310 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving PRI FeD

A. Series (Analogies/a:b::c:d relationships) — Zeavew



ABXDD: I(IOL = E(TY6)H: NOOR

4, % 4

Question Number : 22 Question Id : 2099632311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY

2. Problem Solving PRI P

A. Series (Analogies/a:b::c:d relationships) — Been



ABODE : BCI4EF :: GENRE :

(1) HFI3SF
(2) HFI4SF
(3)
(4)

4

HEI5SF
HEF16SF

Options:

Question Number : 23 Question Id : 2099632312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving PRI FeD

A. Series (Analogies/a:b::c:d relationships) — Zeavew



xitdr A Foxt 12048 nat-dx 4

) x*-xt-x-1

(2) x*=6x*+11x-6
(3) x*+6x?+1lx+7
4) x*-6xt+12x-8

Options :

Question Number : 24 Question Id : 2099632313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving PRI P

A. Series (Analogies/a:b::c:d relationships) — Been



CFI DHL  EJO

126 224 350 ——

(1) FLR
504
(2) FLR
324
(3) FLR
18
(4) FLR
216
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 25 Question Id : 2099632314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RRIRP] FeD

A. Series (Analogies/a:b::c:d relationships) — Zeavew



BOECa 2T D X

S R QU —
| N N

Options :

1. %1

Question Number : 26 Question Id : 2099632315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R Fe

A. Series (Analogies/a:b::c:d relationships) — Zeaven



ROUND : NDURO :: CAKES :

EKSCA
ESKAC

ESKCA
ESCKA

4. % 4

Question Number : 27 Question Id : 2099632316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RIRPY

A. Series (Analogies/a:b::c:d relationships) — Zeavew



DEF : 360 :: HIJ ;
2810
2180
2020
2160

4. 4

Question Number : 28 Question Id : 2099632317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving PRI P

A. Series (Analogies/a:b::c:d relationships) — Beoen



(1) 999
(2) 1332
(3) 1001
4) 513

Options :

1. %1

2. %2

3.3

4, % 4

Question Number : 29 Question Id : 2099632318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RRIRP] FeD

A. Series (Analogies/a:b::c:d relationships) — Zeavew



7+2V12:2+vV3 . :2+445

(1) 9445
(2) 942V5
(3) 9435
(4) 9445

Options :

Question Number : 30 Question Id : 2099632319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RIRPY

A. Series (Analogies/a:b::c:d relationships) — Zeavew



FUSTY (YUTSE) : VYING (GNIYV) :: WILGA (GILWA) : YAMEN ()

) NAMDY
3) NEMAY
4 AMENY

[) NAMEY

(
(
(
(

Options :

1.1

4, % 4

Sub-Section Number : 3
Sub-Section Id : 209963256
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 31 Question Id : 2099632320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ;‘asf:ob‘;g F&D

A. Series ( Odd things out) Frew



10, 30, 68, 130, 220, 350, 520

68
10
350
220

o ——
2 e
P R QN p—

Options :

Question Number : 32 Question Id : 2099632321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RO s

A. Series ( Odd things out) Feen



112, 100, 90, 80, 76, 72, 70

(1) 90
2) 80
3) 76
@) 72

Options :

1. %1

2.9% 2

3. %3

4, % 4

Question Number : 33 Question Id : 2099632322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R s

A. Series ( Odd things out) Frew



0,0,2,3,6,10, 15,

¢} 2
(2) 3
(3) 15
(4) 6
Options :
1.4 1
2. % 2
3. %3
4, % 4

Question Number : 34 Question Id : 2099632323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

A. Series ( Odd things out) FreD



ESOR, YLIL, SUTOL, NOMEL, SPILUT, DLOGIRAM, AILLEMAC

Question Number : 35 Question Id : 2099632324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ;‘bsﬁob‘g FED

A. Series ( Odd things out) FreD



h

22.32.44.58.74,92, 111, 134

(1) 92

(2) 111

(3) 134

4) 74
Options :
1. % 1
2.9 2
3. %3
4. % 4
Sub-Section Number : 4
Sub-Section Id : 209963257
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 36 Question Id : 2099632325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
FEDRD



5, 64,15, 192, 60, 768, 300, , 1800

(1) 3840
(2) 3640
(3) 3740
(4) 3940

Options:

Question Number : 37 Question Id : 2099632326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Fraoen



2.8,5.6,84,112, . 16.8,19.6

e,
P T

4. % 4

Question Number : 38 Question Id : 2099632327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
FELRD



10405
10400
10395
10390

4. % 4

Question Number : 39 Question Id : 2099632328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Fraoen



380, 280, 199, , 86, 50, 25

Question Number : 40 Question Id : 2099632329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Fraoen



(4) 8
Options :

1.41

4, % 4

Question Number : 41 Question Id : 2099632330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Fea0ew



V241 1 1 1
V2-1'2—+2 ' — 448’ 4(3+22)

(1) 1
2

1

vz
(B) 2
4 22

Options :

4. % 4

Question Number : 42 Question Id : 2099632331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Fraoen



11V8 | 3143
P2t pt—F 0 w) a5
(1) V3-1

22
(2) +V3+1
\2
(3) V3+1
2+/2
(4) V3+1
4

Options :

1. %1

2. % 2

3.4 3

4, % 4

Question Number : 43 Question Id : 2099632332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Fea0ew



3.3,12.8,.30. 70, , 42

o~ ~—
= W
e’ e’ e’
h LN LN
= o O

Question Number : 44 Question Id : 2099632333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Fraoen



AFE, BL, CT, .EP.FD

(1) EE
2y GC

(3) FF
(4) DD

Options :

Question Number : 45 Question Id : 2099632334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Fraoen



63, 64, 69, 66, 75, 68, 83, 70. 12

4. ¥ 4

Sub-Section Number : 5
Sub-Section Id : 209963258
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099632335 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 48)

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ;‘bmﬂ‘?é B

B. Data Analysis Sgro% DFE



The following table tllustrates the number of candidates (i thousands) appeared for

three entrance exams A, B, C over a five year period from 2019 to 2023,

2019 doocs 203 08 o 5 Rediyr Aok R gs obse
A.B. C o) e eiho doy 9 (308 ) & $od D¢ :rpod

:0023300 A g (
2019 220 49 13
2020 230 46 30
2021 20 3] 40
2022 400 16 IN
2023 310 1 )

Read the table carefully and answer the following questions 46 to 48.

& DOS G ) 46 0% 48 3% o 2805 rERPdioc.

Sub questions

Question Number : 46 Question Id : 2099632336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Q0] D

B. Data Analysis S0t DA

In the exam A, the percentage of increase in the number of candidates appeared in

2022 compared to 2021 15

0B A 6 20218 T8 20228 a3 et oy i Fde

Question Number : 47 Question Id : 2099632337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RB0) FBD

B. Data Analysis ATr0% DB



What percent of candidates appeared for B 1n 2022 compared to all the candidates

appeared for B durmg five years?

o Rosgyrod 202 B & Fadi dudo ool I 20026202 B &
%0 @235gm Fe0d ?

A
AR
20.3

J]

)
;
Y 1

)
2
G)
(

Options :

4. % 4

Question Number : 48 Question Id : 2099632338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY

2. Problem Solving RBOFY FED

B. Data Analysis Aot DFAes



By what percent approximately 1s the maxtmum number of candidates appeared

compared to 1ts previous year m (?

908 C £ oyt 8138 6 Royding TFBY Fadd ediho Pod

o &od) &8 Tdho DAPNT

4. ¥ 4

Sub-Section Number : 6
Sub-Section Id : 209963259
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099632339 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Question Numbers : (49 to 51)

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RBOF] FED

B. Data Analysis Aot DFEs

There are 6600 employees m all in four companies A, B, C and D. The following

pie chart shows percent wise distribution of the employees in these companies.

A B,C,D &3 4 46208 2o 6600 B[ &) 6. & LdED
&8’5(130 RoEd o O & $08) o o AFR0A.

The following table gives the male to female employees ratio m these four
companies A, B, C and D.

& eurd &onden A, B, C, D o pydnen 0ok %3 &Szgrbe) SR & god
2 AR08,

Company Male - Female Ratio
4o @@@0-5’30 AN
A 1:1
B )4
# 1:3
D 5:6

Read these carefully and answer the following questions from 49 to 51.

0 e 309 49 00G 51364 do 0809 TR0,

Sub questions



Question Number : 49 Question Id : 2099632340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R0g D

B. Data Analysis Sgro% DFE

The total number of female employees in all these four companies 15

& Turd o’ o Ao 3 ejbe doay

Question Number : 50 Question Id : 2099632341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Q0] D

B. Data Analysis S0t DA

The total number of male employees m companies A and B 1s

A, B 608" ffo Ao i ejtho oz

(1) 1734
() 1725
(3) 1716
(4) 1737

Options :

1. % 1

2. % 2

3.3

4. % 4

Question Number : 51 Question Id : 2099632342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R0g D

B. Data Analysis Sgro% DFE



The total number of female employees in the companies C and D 1s

C, D 008" i Qg  &B{0 R0

2240
2241
224)
2243

Sub-Section Number : 7
Sub-Section Id : 209963260
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099632343 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (52 to 55)
SECTION - A : ANALYTICAL ABILITY

2. Problem Solving R0g D

B. Data Analysis Sgro% DFE



Let § be the set of first 200 natural numbers, A be the set of all multiples of 3 1 §,
B be the set of all multiples 5 1 § and C be the set of all multiples of 71

Based on this nformation answer the questions from 32-35.

200686 200 72 ooy daroseare $9 IS e L. AAEY
3 thedere) B A e, 5 (Deere) 2a0dR B A, 7 ke ad) C T
AnER. & VAPTGo SR 5)-35 6% o ) 0% DAPTFIPR B0

Sub questions

Question Number : 52 Question Id : 2099632344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R0g D

B. Data Analysis Sgro% DFE



The number of elements of § which are divisible by 3 and 3 but not 7 1s

a8 S & 3 dodaky 5 o arhocechcr 7 8¢ arhedecd durese D03

4. % 4

Question Number : 53 Question Id : 2099632345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RBOFY FED

B. Data Analysis Aot DFAes



The number of elements of § which are not divisible by any of 3,5 and 7 1s

206 S 3, 5 Bt 708 SASHR Podcd Arvse doa

Question Number : 54 Question Id : 2099632346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving REF| FES

B. Data Analysis S0t DA



The number of elements of § which are divisible by all the three numbers

3,5and 7 1s

209 S 3, 5 00ak 7 e Ardodd rRoded darus) g

L ]

Options :

1.1

4. % 4

Question Number : 55 Question Id : 2099632347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R0g FD

B. Data Analysis Sgro% DFE



The number of elements of § which are exactly divisible by any two of 3, 5 and 7
1S

206 S&° 3.5 datw 7 o’ A0 099 Bolot)d ZrRocttid sareis) Rog

@ 1

Sub-Section Number : 8
Sub-Section Id : 209963261
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 2099632348 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (56 to 60)



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RO s

C. Coding and Decoding Problems
§coh 208aky a8 Ao dRge

In the English alphabet, each vowel 1s coded to 1ts next second vowel cychically 1.¢.
U'1s coded as E, 0 15 coded as A ... and each consonant 1s coded to 1ts second right

consonant cyclically. 1.¢.. Z 15 coded as €, X 1s coded fo Z, ¥ 15 coded to B etc.

Using this codig procedure, answer the questions from 56-60.

off Sg8r08) oo & o §E B30, 93 ey ddabar
A0 Botia) 0xind §€ St 6. Uiy Ermil, 030 Amiie 86 S, 93
PO TR0 B0 Bocd 7end cigatbore EE S8, e, 7 & (i, X %
Iir, Y Bredr 86 de.

% 8oh EJQ@A') gaarfiow 56 ot 60 AL o @éloéo ;’omm@mé.

Sub questions

Question Number : 56 Question Id : 2099632349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

C. Coding and Decoding Problems
§coh Bu8ak G Ao DRI



Code word for JASMINE 1s
JASMINE & €& 90

(1) LIVQUPO
(2) LIVPWRO
(3) LIVPUQO
(4) LIVPXRO

Options :

4, % 4

Question Number : 57 Question Id : 2099632350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

C. Coding and Decoding Problems
§coh Bu8ak G Ao DRI



Which word 1s coded as LOTUS?
D D0 LOTUS ™ §& B3aercod?

() JERIQ
(2) JERIP
(3) JERIR
(4) JERIQ

Options :

Question Number : 58 Question Id : 2099632351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RO s

C. Coding and Decoding Problems
§coh 208aky a8 Ao dRge



Code word for COMMON

COMMON & &€& Hc0
(1) FAQPAQ
(2) FASSAQ
(3) FAPPBQ
(4) FAPPAQ
Options :
1. %1
2. % 2
3. %3
4.9 4

Question Number : 59 Question Id : 2099632352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

C. Coding and Decoding Problems
§ o B0k AEcoh DRl



SOLDIER 1s code word for
A2 SOLDIER 938 &€& H¢%507?

(1) QEJABUP
(2) QEJBAUP
(3) QEJBAVP
(4) QFIBAUP

Options :

Question Number : 60 Question Id : 2099632353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RO s

C. Coding and Decoding Problems
§coh 208aky a8 Ao dRge



KARGIL 1s the code for
BDE KARGIL & H¢50?

(1) HOQDAJ
(2) HORDAIJ
(3) HOPDAIJ
(4) HOPDBJ
Options :
1. %1
2. % 2
3.3
4, % 4
Sub-Section Number : 9
Sub-Section Id : 209963262
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 61 Question Id : 2099632354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RO s

C. Coding and Decoding Problems
§coh 208aky a8 Ao dRge



EDUCATION 15 coded as 274563801 and DICTATION 1s coded as 785363801
then the code for ADDICT

EDUCATION 9 274563801 e, DICTATION @ 785363801 ey &6
3548, ADDICT 0ig) g8

() 675583
2) 67658;
(3) 677883
@) 677853

Options :

Question Number : 62 Question Id : 2099632355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving DB e

C. Coding and Decoding Problems
§coh 208ok a8 doh DR



[f CLIENT 1s coded as ENEAPV. then the word coded as ECPEXG 1s

CLIENT & ENEAPV e 86 &%, ECPEXG e §& St o

ACTIVE
CTAVIE
ATCEVI
CATIVE

2
3

(
(
(
4

)
)
)
)

Options :

4. 4

Question Number : 63 Question Id : 2099632356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving DB e

C. Coding and Decoding Problems
§coh 208ok a8 doh DR



If NEAR 15 coded as 66 and COLD 15 coded as 70, then the code of DOWN 15

NEAR & 66, COLD & 70 rrae 86 Saicd, DOWN ciog, 56

[
[o=_m]

4. 4

Question Number : 64 Question Id : 2099632357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving DB e

C. Coding and Decoding Problems
§coh 208ok a8 doh DR



IfREPAIR 15 coded as 67 and ABILITY 15 coded as 78, then the code for CODE 15

REPAIR 9 67 rredy sodasy ABILITY @ 78 e §& 39S, CODE ag) §¢

L}
— e s — i —
| I~ | | -
(oL e e | [aw Lt

Options :

Question Number : 65 Question Id : 2099632358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

C. Coding and Decoding Problems
§coh Bu8at GE Ao DRy



If KRISHNA 1s coded as RXNWKPB, then the code of YAMUNA 15

KRISHNA % RXNWKPB P §& dabedaiye, YAMUNA aivg §6

Sub-Section Number : 10
Sub-Section Id : 209963263
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 2099632359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

D. Date and Time & Arrangement Problems
B, D0 BN WBSL DAV

I£ 8% December, 2007 was Saturday, then which day of the week was on 8™

December, 19807

2006 8, 2007 39 do wand, &aoed 8, 1980 ardod’ D Bz o0 G007

I) Sunday e38ardo
2)  Saturday 20 0o
3) Tuesday Qo o

(
(
(
(4) Monday e ardo

Options :

Question Number : 67 Question Id : 2099632360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

D. Date and Time & Arrangement Problems
B, D0 BN WBSL DAV

If , [ are the acute angles between the hour hands and mimute hands of a clock

when the time 15 7.20 and 736 respectively, then & = f 15 (n degrees)

fogrdod” avado 7.26,7.36 2. w0 o) 0080 nBako v
oo i w2 SEReD @ fon BAVRYED, @ - f-
(Gfod)

5

[) 65
RN

)
2
G)
4

Options :

4. % 4

Question Number : 68 Question Id : 2099632361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

D. Date and Time & Arrangement Problems
B, D0 BN WBSL DAV

If time 1n a clock 15 8.40, what time does 1ts mirror image show?

AEoEPGod 8.40 H00sP TR 0108), G0 280000 i) Nevako dots?

L

— — — —
-2
e e g e
LT
"D
[

Options:
1. %1

2. 2

Question Number : 69 Question Id : 2099632362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving BTy s

D. Date and Time & Arrangement Problems
B8, Ddoao ot ity QD[



A man said to a woman “Your father’s only sister 15 my mother”. How 1s related

that man with the women’s father?

28 S0 28 HF 6 drdorr B D ) gy 386 b e iy
3 D & 5@ S04 derold Lo SN

(1) Son-mn-law BRI
(2) Son o)
(3) Father dog,
(4) Nephew ROV
Options :
1. %1
2. % 2
3.% 3
4.44

Question Number : 70 Question Id : 2099632363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

D. Date and Time & Arrangement Problems
B, D0 BN WBSL DAV



Mohan starts walking from A. Having walked for 400m he turns left walks for 300m
and turns to right and walk for 300m. Then he turns again right and walks a distance
of 800m and then turns left walks for 500m and reaches the pomt B. Then, the

distance between A and B (in meters) 1s

A e o) Kod ANFD H6d Fdodod 400D, IS S
ik 560 300, HAB. e AV S8 dnde 300K (pdo
SR, 4 DAL S0 B00. frdo KD ik sy Y 860
500aD. 923 B e Docoi)edd 380, eich A, Bo 0t ¢ipdo (. 0F)

(1) 130
0) 1200
G |
(4) 1400
Options :

1.1

Question Number : 71 Question Id : 2099632364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving BTy s

D. Date and Time & Arrangement Problems
B, DH0H0 B WBSL DAV

A cyclist Anvesh makes a trip of 42 km. He leaves 6 mmutes late, but travels |

kmph faster and arrives on tme. Then the speed of the cyclist 1s

O &9 pdo D 428.20. 69 & DPRS0EPCD. 6.0 BURYOTP LOHRY
30t Q) (o)) & 8.D. :Wbl 0w N33 AaAFAS BDLOEPE. )
2303 gy o (fo./8.b.08

(
0
3
(4

Options :

)
)
) 22
)

1.41
2. %2
3.%3

4. % 4

Question Number : 72 Question Id : 2099632365 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving DB e

D. Date and Time & Arrangement Problems
B8, DAoko LAk WBTL DAV

Five persons A, B, C, D and E are seated around a circular table facing the centre.
Cis the first to the left A and 15 also to first to the right of D. B 15 not immediate

neighbour to A. Who 15 to the second left of D?

b dgen A, B, C D, E e 28 g op bt Sogrdiwaor
&r0 ARALLEY e Qébrf) WA b5§n° &rﬁl& C b 5% i) DS ¢
200 fio 20 258 o, AS i Tivtid BEE. e, D & iy
@SRJK) 6 Cotia) 5)5% ANV

4) E

Options :
1. % 1
2. % 2

3.%3
4.,



v 4

Question Number : 73 Question Id : 2099632366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving BTy s

D. Date and Time & Arrangement Problems
B8, Ddoao ot ity QD[

Letm,n be any two integers. Ifm «n=m*+ mn +n* and

m@n=m*—mn+n, then(1+2)P(3+1)=

m,n R 3R Y RoaRurr 38 0.
m«n=m*+mn +n* ook
m®n =m* - mn +n* v, (15 2)H((3+1) =

(1) 127
0) 37
(3) 137
@) 217
Options :
1.1

2.



Question Number : 74 Question Id : 2099632367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving “fo;h.ub"é FES

D. Date and Time & Arrangement Problems
B, D000 B WBSL DAV



Defme a@b=a+b+1.
a®b=a+b+ab , ab€l.Then

the solution of x@(5 @ x) = 5@ (x @ x) which 15 positive 1s

a,belo a@b=a+b+1
a®b=a+b+ab ™ 305&0130&.. )
x®(5 & x) = 5@(x B x) A, S8 PR

()
()
(3)
(4)

Options :

4. % 4

Question Number : 75 Question Id : 2099632368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY

2. Problem Solving R e

D. Date and Time & Arrangement Problems
A8, Do Hboin esndse R

Lﬂxly:§+§,

y¥ty=2+3

If 51(21(-4)) =

+=(p<q), thenp =

= =
o =T [t

_ %3 d
xly—y+x,

xTy=x)+y* o8ol.

54(21(-4) =

Options :
1.91
2. %2
3.%3

4. % 4

.|.

= =
=

(p<q) wo0B,p =



Mathematical Ability

SectionId:

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:

Question Number : 76 Question Id : 2099632369 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

20996335
2

Online
Mandatory
75

75

75

Yes

0

1
209963264
Yes

null

SECTION — B : MATHEMATICAL ABILITY

1. Arithmetical Ability

005 iedeh avmgé@



3 3
29 9 29 38 3
&) terests)

20 32 a
)
1z 11

(1) 7
33

2y 22
33

(3
23

oy 2t
33

Options :

Question Number : 77 Question Id : 2099632370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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If 95 =277 =817 and—+—+—=125, thenx +y+z=
B 9y 12z *

9¥ = 27¥ = 817 nbaid — + -+ =25 eso@, x+y+z=
6x 9y 12z g

(1) 11
300
@ 13
25
(3 13
300
(4 17
230

Options :

4. % 4

Question Number : 78 Question Id : 2099632371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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If (a+b):(a—b)=3:2, then (z:z:) =

(a+b):(a—Db) =3:2e0md. (“4_54) L

a*+bt

5 P

3212

(2) 8%

63

(3 B

62

(4) 322

" maa

Options:

1. %1
2. % 2
3.%3
4. ¥ 4

Question Number : 79 Question Id : 2099632372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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A merchant brings two types of rice costing Rs.50 per kg and Rs.60 per kg. He then
mixes two types of rice in some ratio and sells at the rate of Rs.65 per kg and earns a

profit of 20%. Then the ratio in which he mixed two types of rice 1s

w8 0 A7 § ar. 50, 0.8 6r.60 GOF Tocd o5e Dajo & ED B
258 Ayae” & Sochowe Dabjo O 5HD 6A 4. & dr.65 Ty By
207 ererd) 0o, B, 8 6ot 05°0 AVEORY DS A

Options :

2.9¥2
3.%3

4. % 4

Question Number : 80 Question Id : 2099632373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 81 Question Id : 2099632374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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a=y4+V7, b=y4-v7 =a+b=

(1) 14

Question Number : 82 Question Id : 2099632375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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Which of the following statements 1s true?

& $ob PSTOS 20 Vo0 ?

(1) 14762 15 divisible by 4.
4 3¢ 14762 erfocdercaciood.

(2) 14764 15 divisible by 7.
7 3¢ 14764 erhocdecadood.

(3) 14769 1s divisible by 9.

0 ¢8 14769 erhocieacadiood.
(4) 15742 1s divisible by 11

11 3¢ 15742 eehociercoctood.

Options :

1. %1

4. % 4

Question Number : 83 Question Id : 2099632376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKedeh av.mgée:e

When the number 13 X 14 x 17 X 19 x 25 15 divided by 100, the remainder 15
13% 14 %17 %19 % 25 % 100 & ephocsr Dé() 30

—b‘ I:-_JJ
— L

,...__. A A /..-.___
L ]

e e e e
Ly
—

Options :

1. %1

4. % 4

Question Number : 84 Question Id : 2099632377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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[f LCMof 1, 2,3, ..., 601s N, then LCM of 1, 2.3, ..., 60, 61, 62, 63, 64, 63

(n terms of N) 1s

12360 0 .. Nesawd 1.2.3....60,61. 62 63,64 65
(N S’ © &0,

Question Number : 85 Question Id : 2099632378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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Suppose LCM of two numbers a, b1s (a < b) 40 times HCF of a, b. Then possible

mumber of pairs (a, b) 15

0,b (a <B) & §:3.1b. 630 0, bo f:3.25.% 403t L8, Jodly
Svalurmjen (a,b) v Ro3)

Question Number : 86 Question Id : 2099632379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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1. Arithmetical Ability
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1=

024023 +0.234 4 0.2345 == (1n lowest form) = q-p =

q

02+023+0234+02345 = (rgyaro &) = q-p =

(1) 0l
) 203
(3) 203
@) 207

Options :

1. %1

2.9 2

3. %3

4, % 4

Question Number : 87 Question Id : 2099632380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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1. Arithmetical Ability
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Question Number : 88 Question Id : 2099632381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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Descending order of the numbers
65 217 9 63 14 .

1S
63’215’ 7762”13

65 217 9 63 14

E,E,E,E,EU ?_955663?9? 5&5.)0

(l) 9 65 63 14 217

4, % 4

Question Number : 89 Question Id : 2099632382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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Decreasing order of the numbers

33 -26,y19 - 3213 - W3 V1T -4,5- W6 is

33 -/26,/19 - W2 V13 - 23 V17 - 4,5 - 26 0 0Biree Svo

(1) VI7-43V3- V165 - 26 V19 - 32 VI3 - 23
(2) V19-3y2,3V3-126,5- 26,17 - 4 V13- 243
() 5-2/6,3V3-v26,V19 - 32,17 - 4 V13- 243
4 3V3-126,5- 26,19 - 3217 - 4V13- 243

Options :

Question Number : 90 Question Id : 2099632383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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If (3a + 2b) percent of 3a + 2b + ¢ 1s double the (3a + ¢) percent of

3a+2b+ ¢ then the relation between a, b, ¢ 1s

3a+2b+c8 (Ba+2b) 7o, 3a+2b+c S (30+c) PER Bocd )
90N, a,D, ¢ © Ve 202)0I6)

Question Number : 91 Question Id : 2099632384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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A cylinder C and cone D are of same height h and base radius r. If cone D's radis
increased by 10% and cylinder C's hesght 15 mereased by 10%, then the ratio of

volumes of Cand D 15

&5 Q0 e;iya“?@"go r e o 28 o C, Joani D eo S0y, doa) D
a7{po 1 104 ook dndin e ey 107 28, C, D o 0odioeme
Dﬁﬁ

LS ]
[—
—_—

Question Number : 92 Question Id : 2099632385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKedeh av.mgée:e

Anarticle’s cost price 15 Rs.900. By allowing a discount of 10%, the shop keeper

oets 10% profit. Then what 1s the marked price of the article (1n rupees)’

28 S gy §13) 30 . 900. 10% By 2.8 dosreardhdd 104 erdo
5o, & R0 Gy e Jo( dr. ) dos ?

Question Number : 93 Question Id : 2099632386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKedeh av.mgée:e

Anperson A sells a watch to B ata profit of 10%, B then sells 1t to C at a profit of 10%,
Csells 1t to D with a 10% profit. If D gets 1t for Rs.6633, then the cost price of the

watch (1n rupees) s

o8 ofred) 28 I8 A, B3 104 ercodiy; B, C A% 10% erdod; C
D% 107 el exkyio dofh. D Y . 0655 £33, & Adatpd
i) 0 (6r06

Question Number : 94 Question Id : 2099632387 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e905¢5edeh av.mgé@

Three persons P, Q. and R enter tmnto a partnership bustness with the mvestments m
the ratio 3: 4 5. R withdraws his mvestment at the end of 3 months. At the same
time another person S joins with P and Q with the mvestment double that of P. If the
share of P 1n year end profit 1s Rs.146400, then the share of S tn the year end profit

(1 rupees) 15

b dzen P Q Reoas GG mgmﬁ)l 3425 K)t.’qbegeSﬁ DA
D Pofeckd. 3 00 e R &8 (et ool 83 DRKLED EroErdocd
S, o dsatod P, Q oF $ & 318 P btoudd Goleden dianld

mﬁﬂ"s&’bm O0RD. ‘aobejbmoej o &' P 031)92J Pt A Rs. 146400 e00n)e,
§ alug) i (dr.08)

Options:

1.91



Question Number : 95 Question Id : 2099632388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e905¢5edeh av.mgé@

Three persons P, , R started a business with mvestments 1 the ratio 3: 2: 5. After
6 months P and () withdraw half of therr mvestments. [f the profit at the end of the

year 15 Rs. 700000, then P's share of profit (1n rupees) 1s
3:2:5 30 divedd o dxgen P,(,R e o8 ) drdododd

6 Qov BT P oty (e ey Dl o By, Sg) b
Sosod 7o 6. TN ecasdyand, P i), avt (606 )

Options:



Question Number : 96 Question Id : 2099632389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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Two pipes A and B can fill a tank m 42 and 56 mumutes respectrvely. Ifboth the pipes

are used together, how long will 1t take to fill the tank (1n minutes)?

G0t PR 28 O S8 i 42:%6ak 36 2. o’ DoyEran. & Bocd
DU w0 B0 &8 2 89 docrdd o dibao (2.065)

=
4

Options :

1.9 1



Question Number : 97 Question Id : 2099632390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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1. Arithmetical Ability
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Two pipes idividually A and B fill an enpty tank i x, y hours respectively. Ifx:y =
3: 2 and B alone can fill the empty tank 1n 12 hours, then the time taken to fil the tank.

when both pipes are opened 1s

28 79 8 88 A, B & doigen DD SR 1,y ot AowEray.
x:y = 3:2 Sobatn dowy B, 479 9212 ot oSN, & Bott) o)V
28 PO BN 8 A 58 Roctrdd o8 oo

(1) 7hours 12 min
7 flo. 12 .

(2) 7hours 18 mun
7 fio. 18 .

(3) 7 hours
[ th.

(4) 8 hours
§ tho.

Options :

Question Number : 98 Question Id : 2099632391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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Ravi goes from a city A to another city B at a speed of 50 kmph and returns back at a
speed of 70 kmph. If he takes 21 hours 1n the journey, then the distance from A to B

15 (in k)

69 100 50 .20, St A 93 3ibo 0 08 1o B £ 864 v B ool
A% flotiy 70 &, o8 PR, & Ao POSFEFAS 08K 21 otin
3008, A 06 B o drdo (E.e0.08)

Options :
1. % 1
2. % 2
3.%3

4.9 4

Question Number : 99 Question Id : 2099632392 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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The speeds of two cars A and B are in the ratio 3 : 6. If A takes 30 minutes more

than B to reach destimation, 1 what time does A reach the destmation? (1n hours)

Qo 533 4, B 0:drm0 iy 5 - 6. ridyFad8 s B 63) A, 30 e
8 Sracho, o Ao A g P ET? (fotid)

Question Number : 100 Question Id : 2099632393 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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Three persons A,B, C can do a piece of work mdividually m 20, 30 and 24 days
respectively. All the three start working together but C leaves the work affer 4 days.

[nhow many days the rematning work was completed by 4, B?

ooty dxgpen 4,B,C &0 DEDE 2.8 5 S 20,30 sobody 24 Bl
70 oo, e 68 53 rdedlodkd 0 Bz o € 03 D
39y, 098K B A, B e 8B ) B g7 107

Question Number : 101 Question Id : 2099632394 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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The ratios of times to complete a piece of work by A and B1s 1:2, Band € 153 : 2.
If 4, B and C together complete the work m 260 mimutes, n how many hours B

alone can complete the work ?

A, B e 4% 28 500 70 oty 00 didodiwe A3 1: 2, batu B,
C oo 6B g doioiid) ot ookdon 3d 3:2. 4B w
Sorbdr ¢80 & 9O 260 ARG 7 SabriBn, B 24 E e B A
ot 7 Safory?

() 1
Q) 4
()

4 2

LA ]

Options :
1. % 1
2. % 2

3.%3



Question Number : 102 Question Id : 2099632395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

00 ciedeh snmgé@

Consider the nght angled 1sosceles triangle AABC, with right angle at B. Let E, F be
points of trisection on BC. Then AC : AF : AE =

B g o) 4B ABC 13 vonn Mol erimo Gipd) Dbridoctol
BC » E.F e drvédn Dochig)en Bl et AC: AF - AE =

(1) 342:43:410
@) 02:V14:410
3) 32:13: 10
(4) 3\2: 213:\10

Options:



Question Number : 103 Question Id : 2099632396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKieded avmgée:e

Let R be a rectangle with length x cm and breadth y cm. If x and y are both mncreased
by I unit each, the area of this new rectangle becomes 403 sq.units. Then the area of

R 15 (in sq. units)

R e 28 g scociyo e x o B0 Deiewy y Do 1,y 0 1 0.,
Sy badiipr D S BY sy prujo 403 o,
ORI, B oo R 37 (50D, o



Question Number : 104 Question Id : 2099632397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

00 ciedeh bvmgée:e

The ratto of lateral surface areas of two right circular cylinders 1s 10 : 9 and the ratio

of therr heights 15§ : 3. Then the ratio of therr volumes 1s

B0t §i g0 a7 95,80 P g 10:9 oy 96 Jgow
NANTRBRICON ) AR R TR AN



Question Number : 105 Question Id : 2099632398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKieded avmgée:e

( is a hollow cuboid of dimensions 90 x 120 X 150 cm?. C is to be painted on all
its surfaces. If the total cost of painting is Rs.846, then the cost (in rupees) of

painting per sq. meter 1s

C 5 w8 fog & o e, o 90X 120 X 15030, € g ey
0% CortiODEm3 6846 X0y BN, O e 28008 ey 9y
(Er0f)



Question Number : 106 Question Id : 2099632399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

00 ciedeh bvmgée:e

There 1s a carcular field of iameter 91m protected by fencing around the field. A walk
way of width 3.5 m mside and along the boundary has been created. The total cost
tncurred in gettimg this work done 15 Rs. 144375, Then the cost per sqmeter (in rupees)

IS

S1ab. o) 28 ST o & tEostrl & Ego b 403 ¢od. T
oo RBLr Don 3.5 Aoy fio 2.8 A0 Aoyt dabio 26l
803 oo Qo ay 6. 14375 oot o), . o ok iy
(dr.06)

Options :

1.



Question Number : 107 Question Id : 2099632400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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There 15 a rectangular field. The total cost of fencing around the rectangular field is
Rs.12000. If the length 15 20m more than its breadth and if the cost of fencing per

meter 15 Rs. 123, then the length (in meters) of the field 1s

8 0F dendye o g Tey, Aoy 67) 20 2. e &0,
000 3o i %3 Sabiedl P8 . 6125 Sy 612000 2ty
ood, ¢ & g T (0.0F)

4, % 4

Question Number : 108 Question Id : 2099632401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKedeh av.mgée:e

The length and breadth of a rectangular play ground are 39m and 30m respectively.
Poles are required to be fixed along the boundary at a distance 3m apart. Then the

mimber of poles required 1§

08 B o6y Bt oo g Ty, Srewy e i 39 ., 308,
6 00 DA, {8 Bocd o el 300, AED et Roipor Dhocsd

R, TR ‘gom 203

1) 3
HE
)
)

Lt

)
46

S

(
4

Options:

Question Number : 109 Question Id : 2099632402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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The least positive value of k such that 19 divides 501 - is

501 - 19 D%QQOW ok, k 03208, SR 689 ey

Question Number : 110 Question Id : 2099632403 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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The smallest four digit posttive mteger that satisfies 12x = 5(mod 13) 15

120 = 5(mi0 13) 8 ey 063 Feuriody ;bo:%wﬁ S0 69 oy

(1) 1303
) 1009
B) 2603
() 1008
Options :
1. %1
2.9 2
3.% 3

4, % 4

Sub-Section Number : 2
Sub-Section Id : 209963265
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 111 Question Id : 2099632404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéa)éodj E:romgéa



If A={x:0<x<50, x isanatural number } and

B={xtx=50n=1234..]} thenn(AnB) =

A={x:0<x <50, x w8 o } wbasw
B={x:x=5nn=1234,..} ®ad, n(AnB) =

ﬂ h ﬁ ﬁ
LS [a—

S o o — o
L o —_

e

[a—
—

Options :

Question Number : 112 Question Id : 2099632405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D0, eaﬂéibéotb 3"6&38?5@



A={x€R: |x-4 <4, B={xeR: |x-5/<2}=24UB=

Options :

1.9 1

Question Number : 113 Question Id : 2099632406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DE0%, eaﬂéf.béodj avmgée:&



If (x* - 1) is a factor of the polynomial 4x* - 7 + ax® + bx 45,

then g + b =

o0nd dx* = 7% + axt + b+ 59 (v - 1) 28 S6eroso wond

at4h=

Question Number : 114 Question Id : 2099632407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéméodj &mgéa

[Fa root of the equation x* = 15z +m = 0 exceeds the other by 3, then m =

r& = 15x +m = 0 50 ), 28 o o8 o 7Y 3 29 50
&of) m=

Question Number : 115 Question Id : 2099632408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéibéa‘.b &mgéa

Let p(x) = x* +ax* +bx + Landif x* - Lisafactor of p(x), then 20 - 3b=

p(x) = x* +ax* +br+ 1:00ap(r) & x* - 1 w8 Seroso wowd,
20-3b=

LA )

LS }

Options :

1.1

4, % 4

Question Number : 116 Question Id : 2099632409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DEA%, aauén;éam 3"&}%@3



The remainder when 5x° + 2x* = 3x + 4 is divided by x — 1is

5% + 207 = 3r 44 -1 & erfodiied iy 3

4. % 4

Question Number : 117 Question Id : 2099632410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, aaﬂéibécda ammgée:a



[f the common solution of the equations 3x + 2xy + 2y = 0 and

x=xy +4y =05 (xy, yp). then g +y; =

34 2y 42y = 0Bt x- 1y +4y = 0 0 oo iyl R

(% YU), 900D, xé’ 4 yg =

e | | - —_—
L | LT )

Question Number : 118 Question Id : 2099632411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D0, eaﬂéibéotb 3"6&38?5@



x=y12+V143,y =y12-VI83 = (x + 1)(y + 1)

(1) 26-2
() 26-4
() 24426
(4) 44426

Options :

4. % 4

Question Number : 119 Question Id : 2099632412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéibéodj &mgéa



Vxt =203 4+3x2-2x+1 =

2

x“—x-1

)

) x*+x-1
) x%—x+1
)

—x* 4+ x+2

Question Number : 120 Question Id : 2099632413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DE0%, eaﬂéf.béodj avmgée:&



If a+1,3a-4and 6a - 13 are n arithmetic progression, then 4a + 6 =

a+1,30-4, 6a-13 0 wod3iS G da+6=

4. % 4

Question Number : 121 Question Id : 2099632414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, aaﬂéibécda ammgée:a



[f the arithmetic mean and geometric mean of the positrve numbers a and b are 10

ath _
(a-D)2

and § respectively, then

3ot &) “A)oajsw a,be @osmqs5mo, 6 anS]Smo e AN 10 Bty 8

a+h

e (a-b)2

1)1

Mol |

0 1
12
;
3
@ 1

144

Options :

1. %1

4. % 4

Question Number : 122 Question Id : 2099632415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, aaﬂéibéodj 3"8{1}%@

sin(1485%) + tan(1485") =

(L) g

V2

@) =4
V2

B) ~—i
\I-Z

@ —+1

5

Options :

Question Number : 123 Question Id : 2099632416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéméodj &mgéa



sinx + cosecx = 2 = sin®%* x + cosec?0%* yx =

() 1
2) 3
(3) 2
4) 0

Options

1. %1

2. % 2

3.% 3

4, % 4

Question Number : 124 Question Id : 2099632417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéibéodj &mgéa



SinA+CosA SinA-Cos A _ k
SinA-CosA  SinA+CosA  Sin2A-Cos?A

(1) 1
2) 2
(3) 3
4) 4

Options :

1. % 1

2.9 2

3. %3

4, % 4

Question Number : 125 Question Id : 2099632418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DE0%0, aﬂéméodj 3"&{13%5@



If 615 an acute angle and

cot(f+15)°

tanf = cotd. then T =

A 2,8 waw Eero @) tanf = cot f oKD,

cot(f-15)°
(1)1
3
2) 3
3) 2
4
Options :
1.9 1
2. % 2
3.% 3
4. % 4

Question Number : 126 Question Id : 2099632419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, esﬂéméa‘.b &mgéa

Two persons P, Q on either side of the tower on the line passing through the feet of
the tower observed that the angles of elevation of the top of the tower are 30°, 6(°
respectively. [f the distance between P and the feet of the tower 15 30 meters, then the
distance between the feet of the tower and Q 15 (1n meters)

390 o ot To) 26wl p Wrd FPYS &) P, Q el dygen
0t A &g Serod 30, 6 w0 e 0w S, P od 5§ g
FO8 30 . 0 o ¢9) bowd, 30 ko Aods Q & 2438 o
(Q.08)

1) 103
) 10

4 3043

Options:
1. % 1
2.¥ 2
3.%3

4. % 4

Question Number : 127 Question Id : 2099632420 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D0, eaﬂéibéodj 3"6&33?5@

In the following figure, the value of y 15
306 D’ y v, Dewd

(1) 10

(2) 180
19

()
18

Options:

Question Number : 128 Question Id : 2099632421 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéa)éodj E:romgéa

If (90 -x)°, 2x" and x" are the angles of a triangle, then the value of x i

(90 - x)°. 2% S0ty x¥ e &8 Seforo &7 ey S 90N X e

1) 1)
) 35
55

(
2
()
@ &

Options :

Question Number : 129 Question Id : 2099632422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéibéa‘.b &mgéa

Let S be a circle with centre O and A, B be two potnts on S. If the area of the sector
OAB is 462 sq.cm and the sectorial angle AOB is 30", then the length of the arc AB

(incm) (Take m = %) is

S R o ey Sogo 0 0oty S 3 A, B 0 Foc Dochvrbbod. ?0%5
OAB o 462 520,00, ooty g0 §ra0 AOB devd 30° evonaig)d, AB

o0 F6) (0. o) (1=

20
1

(I
b
(
(4

[ |
~2

S

2
23

Options :

)
)
)
)

4. % 4

Question Number : 130 Question Id : 2099632423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéibéa‘.b &mgéa

ABCD 15 a parallelogram. E 15 the mid pomnt of the diagonal DB. If D = 10 ¢m and
DB =16¢m., then PQ (incm) 15

ABCD w8 ot cdodoyzo. 6o DB § oy Boci E. D = 1 204D,
6050 DB = 16300.00. woud, P) (0.0, o8’ )

AP B

) 6 q ¢
) 10

) 8

§ 1

il
2
t
(

h)

Options :

4. 4

Question Number : 131 Question Id : 2099632424 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéa)éa‘.b 3"&1}%@

[n the following figure, 1f AB =2BC, then the ratio of area of ABCD to the area of

the circle 18

% 306 ot AB =B eawiic®, ABCD DTS, 38 TTORS

A3

Options:
1. %1
2. %2
3.3

4. % 4

Question Number : 132 Question Id : 2099632425 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D0, eaﬂéibéotb 3"6&38?5@

In the triangle ABC, aiventhat 24 = a” 4 2b°, 2B = 70° + 3" and
£0=60°-a°, thenb =

Sbao ABCS 4=+ 20 28 = 70° 4 3" by
£0 = 60" - a° oy, b=

Options :
1.9 1
2. % 2
3.%3

4. % 4

Question Number : 133 Question Id : 2099632426 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D0, eaﬂéibéodj 3"&{133?5@

The slope of the line 3 (x 4 y) + 2(y = x) + 4 = 0 is

\/g(x+y)+2(y—x)+4:0@5‘&0#6&30313%@“&13

() 7-43
2) 2-43
(3) 7443
4) 2443

Options :

Question Number : 134 Question Id : 2099632427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéibéa‘.b &mgéa

The equation of the straight line passing through the mtersecting point of the lines

x+y=1=02t+y-6=0andparallelto 4x + 9y +3="01s

x+y=1=0,2r+y-6= 06 20000 Dot Dochryier Tem
449y 43 = 036 Podiom ok A0VEaP asdeo

(1) 8x+18y-17=0
(2) dx+9y-16=0
(3) dx+9y+16=0
(4) 8x+18y+17=0

Options :

Question Number : 135 Question Id : 2099632428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéibéa‘.b &mgéa

[f the pomt P(3, 1) divides the lme segment joming A(4,0) and B(x, y) mterally

mtheratio 13, thenx +y =

A(%0), B(ny) oo 885 Bar 20m) P(3,1) @ Dothiy 13 D‘QDQQSG
woGorP Jefenol, x 4y =

Question Number : 136 Question Id : 2099632429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéméodj &mgéa

A lme L 15 parallel to y = x and passig through (2, 5). Then what 1s the distance

fromLtoy=x?

(2,5) thoz T y = x 26w diroddor &3) S L edd y =1 $
Joth ol Gotnod?

W2
"\."IZ

Options:

Question Number : 137 Question Id : 2099632430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéméodj &mgéa

The equation of a line passing through the origin and perpendicular to the line

joining the ponts (2, 3) and (0, 0) 15

Sur0) Dochd) thor Y (2.3), (0, 0) Docodrsd 880 B vowore ok
A6V0E AebSto

Question Number : 138 Question Id : 2099632431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéméodj &mgéa

Slope-intercept form of the line passing through the pomt (~2,3) with slope 2 15

(<2,3) ooz ke 2 areure i 0¥09) & Pe, eodd Doct dFo

(1) y=2x+6
(2) y=2x+5
(3) y=2+7
@) y+x=7

Options:

Question Number : 139 Question Id : 2099632432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéméodj &mgéa

[fa and b are X and Y-mtercepts of the line 2x + 3y = 10 respectively, then
9(a* +b*) =

2+ 3y = 10 &3 6vBp g, X, Y-wodtaocen R a, b wond
9t +b) =

4. % 4

Question Number : 140 Question Id : 2099632433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéh_véodj &mgéa

The lmes ax + (1-a)y —1=0 always pass through the pomnt

ax + (1 - a)y - 1= 0 & Bapew Y & Dockad) thor Fepa.

(-1,2)
(1.2
(1.3)
(1.1)

(
0
(
(4

S

)
)
)
)

Options :

4.9 4

Sub-Section Number : 3
Sub-Section Id : 209963266
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 141 Question Id : 2099632434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

SEESICLES &mgﬁ

[f the mean of x, x = 97,6,9,x — 88, x — 84 1525, then 2x =

%,x=97,6,9,x - 88,x - 84 © ©0S68{s200 25 09008, 2x =

(1) 202
2) 101
(3) 330
(4) 200

Options :

1.9 1

2. % 2

3. %3

4, ® 4

Question Number : 142 Question Id : 2099632435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability

R0aT(ST°R &mgé@



[f the average of three numbers 15 17 and the sum of two of the three numbers 15 32,

then the third number 1s

QPG Dof) AT 17, &8 ) KJO&JﬁUQSﬁ 0ot oL o 32, o,
Q) D03

Question Number : 143 Question Id : 2099632436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

SEEL LS &mgé@



[f the mean of the observations 20, 21, 32, 16 and x and the mean of the

observations 30, 25, 20, 14, 17 are equal, then x =

20,21, 32 16 b x &9 08t e @6 30,25.26, 14, 17
Sfdoo % il x =

-2

— — — —
L}
[ [ )
=

L ]

Options :

Question Number : 144 Question Id : 2099632437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

SEESICLES &mgé@



The median of § observations 1547, Another four observations 52, 43, 13, 56 were

added to the data. Then the median of 12 observations 1s

8 a0auderd 40 dgpotiy) dudyido 47. modie 4 DB3uren 32,43, 13,56
R o8 ecklor 3y S, & 12 st dfido

LA N
e —1

iy
[

Question Number : 145 Question Id : 2099632438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

ROP(ETR) aomgé@



The medsan of the followmg data 1s

S00) ot g, dndfido

Marks | 10-25 | 2540 | 4055 | 5570 | 7085 | 85-100
wd)&w

Frequency | 6 2 - 20
3%%: @550

b
—

Question Number : 146 Question Id : 2099632439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

SEESICLES &mgﬁ

The mode of the data 7.5.13,7.6.5,13.4.13. 7. x 15 13, then x =

dgroto 1,3, 13.7,60,5, 13,4, 13, 7, x cdlog) epayovso 13 O, ) -

— — — —
L) | ]

e e — —
Ly |

Options :

Question Number : 147 Question Id : 2099632440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

SEEL LS &mgé@



The mode of the following frequency distribution 1s

$08) T Q] epado g erRovEe

f ; ; ) 6 I

Question Number : 148 Question Id : 2099632441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION — B : MATHEMATICAL ABILITY

3. Statistical Ability
SEELCLES &mgé@



Tiwo unbiased dice, whose faces are numbered from | to 6, are thrown strultaneously.

What 15 the probabulity that the difference of mumbers that appear on top faces 15 27

a0 13006 Eonfod et Boch ey adeerd 280 e
R, P8 0P iy o 3o 2 BH R0y o8 !

] 2 ] — r—xll
{ e ]

R
=
S
1 —

Options :

1. %1

Question Number : 149 Question Id : 2099632442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

SEESICLES &mgﬁ

A number 15 selected at random from 100 natural mumbers 1.2.3.4. ... 100.

Then the probability that a randomly selected number 15 not a perfect square 1s

20c8) 100 0y doen 1,2,3,4, .., 100 & ool 2.8 o ofreyhSorr
08 SR, & oS Sabeds Doz Roiyrg o TPV AR Doepdd

4. % 4

Question Number : 150 Question Id : 2099632443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

SEESICLES &mggﬁ

The probability that a randomly selected mumber from 2. 3.4, 5. ..... 100, 101 15 not

A Prime 15

23,455,100, 101 & &ocs wm;aam omlshsal 28 2’00935 ALY ‘fboaJ]S
SNV MALY ?00235)593

1) 073
) 07
B) 074
W 076

(

S

—~1

)0
)0,
)0,
)0,
Options :
1. % 1
2. % 2
3.% 3

4. % 4

Communication Ability
SectionId : 20996336
Section Number : 3

Section type: Online

Mandatory or Optional : Mandatory



Number of Questions : 38

Number of Questions to be attempted : 38

Section Marks : 50

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 209963267
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 151 Question Id : 2099632444 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

A pedestrian 1s one who

(1) drives a motorcycle
(2) sitsiacar
(3) walks on foot
(4) ftravels by tram
Options :
1. %1
2. % 2



Question Number : 152 Question Id : 2099632445 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

All the players were m good form. So, 1t was a factle win for them.

Question Number : 153 Question Id : 2099632446 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings



Paradigm means

(1) model
(2) scenery
(3) sensor
(4) perception
Options
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 154 Question Id : 2099632447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

He was quite judicious. He distributed the property among his children



Options :

4. % 4

Question Number : 155 Question Id : 2099632448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

The media apprectated his efforts affer he won the national award
for his actmg skills.

1nconsistent

)

) random
) unsteady
)

determmed

4.% 4

Sub-Section Number : 2



Sub-Section Id : 209963268
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 156 Question Id : 2099632449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms

The antonym of hassle-free
easy

(I

2
(3) complicated
(

)
) trouble-free
)
)

4) smooth

Options:

Question Number : 157 Question Id : 2099632450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Synonyms and Antonyms



Synonym of ‘assay’

(1) analyze
(2) say
(3) save
(4) believe
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 158 Question Id : 2099632451 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Synonyms and Antonyms



Antonym of ‘malevolence’.

(1) cruelty
(2) ambivalence
(3) benevolence
(4) honesty
Options :
1. %1
2. % 2
3.3
4. % 4

Question Number : 159 Question Id : 2099632452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Synonyms and Antonyms

The synonym of solace

(1) consolation
(2) distress
(3) trouble
(4) anguish



Options :

4. % 4

Question Number : 160 Question Id : 2099632453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Synonyms and Antonyms

The antonym of ‘mediocre”

(I) moderate
(2) mundane
(3)  matchless
(4)  medum
Options :
1. %1
2. % 2
3.3
4. % 4
Sub-Section Number : 3

Sub-Section Id : 209963269



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 161 Question Id : 2099632454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)

I the lecture yesterday.

(1) have attended
(2) was attended
(3) attended
(4) amattending

Options :

1.%1

2. % 2

3.3

4. % 4

Question Number : 162 Question Id : 2099632455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)



Ramu constructing the building since 2020.

(1) have been
(2) has been
(3) was
(4) should be
Options
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 163 Question Id : 2099632456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)



She dinner last evening.

(1) cooked
(2) will cook
(3) 1s cooking
(4) will be cooking
Options :
1.1
2. % 2
3. % 3
4. % 4

Question Number : 164 Question Id : 2099632457 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)



Give away these prizes to the winners. (Change the Voice)

These prizes may be given away to the winners.

(1)
(2) Winners may be given away these prizes.
(3) These prizes are given away to the winners.
)

4) Let these prizes be given away to the winners.

Options :

Question Number : 165 Question Id : 2099632458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)



They delighted to meet their friend yesterday.

(1) were

(2) are

(3) have been

(4)  was
Options:
1.v1
2. % 2
3.%3
4, % 4
Sub-Section Number : 4
Sub-Section Id : 209963270
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 166 Question Id : 2099632459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms



[ promuse to stop smokimg. I am turning over a new leaf this year

The underlined 1diom means.

1) Tam making a new start by stopping smokimng.

() 1

(2) Tam turning the leaves of a book to stop smoking

(3) Tam turning the leaves of this tree to stop smoking.
(

4) Istopped smoking last year itself and turning a new life this vear

Options :

Question Number : 167 Question Id : 2099632460 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Phrasal Verbs and Idioms



The mango garden was a bone of contention among the brothers.
(Find out the meaning of the underlmed idiom)

a subject of disagreement
a subject of understanding
a pomnt of disorder

an 1ssue of agriculture

Options :

1.41

4, % 4

Question Number : 168 Question Id : 2099632461 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms



He succeeded i the UPSC examination n his maiden attempt.
(Find out the meaning of the underlmed idiom)

(1
2
(
(

unmarried
repeated

3) last attempt

)
)
)
4) first attempt

Options :

Question Number : 169 Question Id : 2099632462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Phrasal Verbs and Idioms



His health broke down under the pressure of work.

The underlmed phrase means

(1) mproved
(2) collapsed
(3) broke mnto pieces
(4) metwith an accident
Options
1. %1
2.9 2
3.%3
4, % 4

Question Number : 170 Question Id : 2099632463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms



The severe snow storm blocked the highway and the city.

(1) cutoff
(2) cutmto
(3) cutm
(4) cutup

Options :

Sub-Section Number : 5
Sub-Section Id : 209963271
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 171 Question Id : 2099632464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Atrticles and Propositions



This 15 best book I have ever read.

(1)
(2) the
3)
(4)

d

3
-

dll

that

Options :

Question Number : 172 Question Id : 2099632465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

He died Corona.

)

) by
) with
)

at



Options :

4. % 4

Question Number : 173 Question Id : 2099632466 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

[ could trace dictionary which I lost yesterday.

dll

any

Options:
1. %1

2.9 2



Question Number : 174 Question Id : 2099632467 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

He always boasts hus past glory.

) upon
) on
) of
)

n

Question Number : 175 Question Id : 2099632468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Atrticles and Propositions



The archaeologists found a tunnel the floor.

Sub-Section Number : 6
Sub-Section Id : 209963272
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 176 Question Id : 2099632469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology



A sequence of mstructions used to perform a task i software.

1
2
3
-

Attenuation

(1)
2)
(3) Assembly Language
(4)

Algorithm
Options :

1. % 1

2. % 2

3.%3

4.4 4

Question Number : 177 Question Id : 2099632470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Computer Terminology

Bus 1

(1) a circuit that provides a communication path between two or more devices
of a digital computer system.
(2) avehicle

(3) anmstrument used to calculate numbers

(4) aloudcry



Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 178 Question Id : 2099632471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Computer Terminology

CMOS stands for
1) Cosmos Mind Over Soul.

3

(1)

(2) Computer Modelled On Supplement.
(3) Central Metal Oxide Saccharme.

(4)

4) Complementary Metal Oxide Semiconductor.

Options :
1. % 1
2. % 2
3.%3

4. 4

Question Number : 179 Question Id : 2099632472 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Computer Terminology

Asset of actions aimed to mfiltrate computer networks, systems and personal
devices,

(I) Cyber Security

(2) Cyber Attack

(3) Cyber Security Analyst
(4) Dark Web

Options :
1. %1
2.9 2
3.% 3

4. % 4

Question Number : 180 Question Id : 2099632473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Computer Terminology



Monitor and keyboard are examples of

1) firmware

(2)  peripherals

(3) motherboard

(4)  operating system
Options :
1. %1
2.9 2
3.% 3
4, % 4
Sub-Section Number : 7
Sub-Section Id : 209963273
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 181 Question Id : 2099632474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Business Terminology



A sequence of activities that must be performed from mitiation to completion of a
task.

(1) Workflow
(2) Workforce
(3) Bustness Travel
(4) Post-production

Options :

4. % 4

Question Number : 182 Question Id : 2099632475 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Business Terminology



An mcrease 1n general level of prices caused by excess demand.

(1) Commercial
(2) Income flow
(3) Infringement
4)

4) TInflation
Options :
1. % 1

2. %2

3.%3

Question Number : 183 Question Id : 2099632476 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Business Terminology



LVR stands for

(1) Loan-to-Value Ratio
(2) Loan-for-Venture Ratio
(3) Loan-to-Variable Ratio
(4) Loan-to-Viable Ratio

Options :

1.9 1

2. % 2

3.% 3

4. % 4

Question Number : 184 Question Id : 2099632477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Business Terminology

A busimess model that factlitates purchase or sales of products and services online.

(1) Marketing
(2) Advertising
(3) E-commerce
(4

4) Bustness Technique



Options :

4. % 4

Question Number : 185 Question Id : 2099632478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Business Terminology

mcludes the activities of mmovation and mtroduction of new

products

(1) Research and Development
(2)  Risk Management

(3)  Human Resource

(4)  Business Analytics

Options :

4, ® 4
Sub-Section Number : 8

Sub-Section Id : 209963274



Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099632479 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (186 to 190)
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1

What 15 freedom? It 15 a difficult question to answer categorically. Does it mean
absolute liberty to do as one pleases? Complete non-restraint to pursue any fancy
that strikes one? Is such a free existence posstble at all for a human bemg? Freedom
15, mndeed, a nebulous concept, laying 1tself open to several mterpretations, even
conflicting ones.

There are chaniptons of freedom who vehemently oppose any form of soctal control.
Thoreau at least allows the need of some government---"the best government 1s the
least government"--but there are others who denounce any sort of organisation at all
But given the mperfect nature of human beings, surely, such freedom would
degenerate mto anarchy and fmally to the survival of the fittest in the sense of brute
power? It would result 1n the tyranny of the weak by the strong; It would mean
freedom for the strong and enslavement of the weak.

Sub questions

Question Number : 186 Question Id : 2099632480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



The main theme of the passage 15

Freedom

2 —
e

T

Self-restraint

Social Control

a2

— — — —

4) Best Government

Options :

Question Number : 187 Question Id : 2099632481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



"Ts such a free existence possible at all for a human bemng?":

What do you mean by "such a free existence" m this sentence?

(1) Restramed Freedom
(2) Social Control
(3) Complete freedom to do whatever you like
(4) Tyranny
Options
1. %1
2. % 2
3.3
4. % 4

Question Number : 188 Question Id : 2099632482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



What 15 the meaning of ‘nebulous' in the passage?
clear

controversial

)
) distinct
)
)

vague

Question Number : 189 Question Id : 2099632483 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



According to Thoreau, the best government

(1) exercises maximum authority.
(2) 1mposes minimum authority.
(3) leads to anarchy.

4) exercises brutal power.

Question Number : 190 Question Id : 2099632484 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



Absolute freedom degenerates 1nto anarchy, because

Options :
1.%1
2.9 2
3.%3

4, % 4
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

9
209963275
No

null

Question Id : 2099632485 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (191 to 195)

SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2



But let there be not a semblance of breach of peace even after all of us have been
arrested. We have resolved to uttlize all our resources i the pursuit of an exclustvely
nonviolent struggle. Let no one commit a wrong m anger. This 15 my hope and
praver. [ wish these words of mine reached every nook and comer of the land. My
task shall be done 1£ T perish and so do my comrades. It will then be for the Working
Commuttee of the Congress to show you the way and it will be up to you to follow
its lead. So long as I have reached Jalalpur, let nothing be done 1n contravention to
the authonity vested m me by the Congress. But once I am arrested, the whole
responsibility shiffs to the Congress. Noone who believes m non-violence, as a
creed, need, therefore, sit still. My compact with the Congress ends as soon as [ am
arrested. In that case, wherever possible, crvil disobedience of salt should be started.
These laws can be violated 1n three ways. It 15 an offence to manufacture salt
wherever there are facilittes for dong so. The possession and sale of contraband salt,
which meludes natural salt or salt earth, 1 also an offence. The purchasers of such
salt will be equally guilty. To carry away the natural salt deposits on the seashore 15
likewise violation of law. So 1s the hawking of such salt. In short, you may choose
any one or all of these devices to break the salt monopoly.

Sub questions

Question Number : 191 Question Id : 2099632486 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2



"Let no one commit a wrong m anger": What does 'wrong' m the sentence mply?

4. % 4

Question Number : 192 Question Id : 2099632487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2
What 15 the meanimg of "semblance of breach of peace" in the passage”

) Peace should be disturbed mn reality

(!
(2) Peace should not even seem to be disturbed
(3) Violence should prevail

(

4) Everyone should be arrested



Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 193 Question Id : 2099632488 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2

When does the responstbility of contimumg the struggle shiff to the Congress?

(1) Before the arrest of the speaker.
(2) After the freedom fighters reach Jalalpur.
(3) After the salt satyagraha 15 successful.

(4) After the arrest of the speaker.

Options:

Question Number : 194 Question Id : 2099632489 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

The non-violent struggle i the passage specifically refers to
Purchase of salt.

)

) Salt Satyagraha.
) Possession of contraband salt.
)

Options :
1. % 1
2.9 2
3.% 3

4. % 4

Question Number : 195 Question Id : 2099632490 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2

No



The speaker n the passage does not advocate for

possession of contraband salt.

manufacture of salt violating the law.

4.9 4

Sub-Section Number : 10
Sub-Section Id : 209963276
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099632491 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (196 to 200)

SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-3



The first thought that comes to my mind. It 15 not that India was never an
ndependent country. The point 1s that she once lost the mdependence she had. Will
she (lose) 1t a second tie? It 15 this thought which makes me most anxious for the
future. What perturbs me greatly is the fact that not only India has once before lost
her mdependence, but she lost 1t by the miidelity and treachery of some of her own
people. Will hustory repeat ttself? Tt 1s this thought which fills me with anxety. This
anxiety 15 deepened by the realization of the fact that 1 addition to our old enemies
1n the form of castes and creeds. India would be a democratic country tn the sense
that would have a government of the people, by the people and for the people. The
same thought comes to my mmd.  What would happen to her democratic
constrtution. It 1s not that India did not know what. .. democracy (1s). Will she (lose)
it a second tme? I do not know. But 1t 15 quite possible m a country like India -
where democracy from 1ts long disuse nust be regarded as something quite new -
there 15 (a) danger of democracy giving place to dictatorship.

Sub questions

Question Number : 196 Question Id : 2099632492 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

What was the ‘system’ of governance India had?

1) Arepublic governance.

(1)
(2) A parliamentary governance.
(3) A constitutional governance.

(4) A democratic governance.

Options :



Question Number : 197 Question Id : 2099632493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

The word ‘mfidelity” means in the context of the passage .

disloyalty

honesty

)
) loyalty
)
) farthfulness

Options :

1.1

Question Number : 198 Question Id : 2099632494 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

What made India lose her independence in the past ?

1) Democratiation

) First thought

) Infidelity and teachery
)

Repetition of history

4, % 4

Question Number : 199 Question Id : 2099632495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3



The author’s “anxiety” n the passage 15 about

(1) caste and creed
(2) political parties
(3
(

4

)
)
) the people
) dictatorship
Options :

1.1

4. % 4

Question Number : 200 Question Id : 2099632496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

What 15 the “new” thing that democracy from 1ts long disuse gives rise to ?

(1) Supremacy
(2) Dictatorship
(3) Democracy
(4) Bureaucracy



Options :

1. %1

2.¥ 2

3.%3

4. % 4



